
File 74342 – North Saskatchewan River near Nordegg 

Hydrotechnical File History 

1915 Hwl at Saunders June 27 Qi = 1240cms 

1952 Hwl at Saunders June 23 Qi = 770cms 

1954 Forestry bridge constructed. Three native timber sections totaling 823ft. The main span is supported 
by rock filled pile driven piers.  

1960 Spur on u/s right bank completed. 

1961 Emergency repairs to piers. ? 

1962 Main channel has shifted and main flow is no longer at rock filled piers. Inspection indicates bridge is 
in poor condition.  

1964 Five pile bents have washed out, bridge dropped 4ft at end of 80ft span. New structure recommended. 

1965 Bridge reconstructed. 2-61m through trusses and 2-6.1m treated timber approach span. Trusses 
supported by concrete on H pile pier. 

1967 Inspection indicates that the piers from the old bridge were cutoff quite high and as a result collect 
considerable drift. There appears to be considerable scour at the nose of the North guidebank. U/S 
nose of North guidebank repaired with the addition of class III rock riprap. Hwl June 27 = 17.5ft from 
deck to wl at u/s side near pier and 18.6ft at d/s side. 

1972 Scour report: restore nose of guidebank and apron. Hwl at Saunders June 25 Qi = 779cms 

1975  Inspection of Oct. 10 indicates that scour at the pier is severe. 

1976 The riprap blanket around the concrete pier is lowering but the north guidebank shows no change. No 
work required. 

1 980 Noted: old timber spur is in poor shape and should be protected with rock riprap. 

1981 Old timber spur filled and protected by heavy rock seems to be working well. It seems some riprap 
along the left guidebank on the u/s side has launched. A scour hole was noted in the vicinity of the u/s 
guidebank. 

1984  Class III rock added to the north and south guidebanks and to the south headslope. 

1988 Hwl 0.14 m above wl = elev. 1184.15m. Wl = 5.5m below the top of the deck on the u/s side at the 
concrete pier, elev. = 1184.0m. D/S side = 5.7m or elev. Of 1183.8m.  

 1990 Hwl May 30th 16:15hrs. deck to wl = 5.6m  

    



    

    

 


